Chapter 6 Practice Test
Lintor.  Redadhann /erssre{nmmf "1&"1

For #1 to #3, select the best answer. Complete the statements in #4 and #5.

e Use the pattern below to answer #1 and #2. 4. Whep ¥ = 1.5 on the graph, the
' approximate y-coordinate is .

Figure 1 Fgure 2 Figure 3

1. Which table of values best represents

the pattern?
A A [FigureNumber( | 1 [ 2 | 3 | 4 |
4 fuum*sehf;ma'ﬂﬂ 18 (36 | 54| 72
B i_’“.;E?n?deNuml‘n““"m‘l 1|2]314 i ] 1]
P ‘Number of Sides'(s)| 18 | 28 | 38 | 48 |o| REEEEE
4 | @’51!?@@.@2“@' werif) | 1| 2] 3|4 PLF et
E Numberof sidests) | 12 | 20 | 28 [ 36 5. When y= —8 on the _grap}?, the
e = approximate x-coordinate is H.
| Fii ﬁ"Nﬁ'ﬁﬂi’(ﬂ 11 2 3 4 — -
| ") ¥ I ]
? Number ofSides(s) | 12 | 24 | 36 | 48 ‘ T
N
| N : =
2. Which equation represents the pattern? /= ( ?_ﬁ;i'_—_vvs - \-\ Lol ey
A s=12f ‘s=8f+4/ TR il el -8 S N A A o Ik
Z = 24 J W1
4 cs=10f+8 D s=18f T 1 C
T - // & t
| _ A : = ol 2]
L 3. Which equation represents this graph? 3 -—x
s di | ’ L10- wd L
i s - #—‘ | L3 || A
| o b r4
A / x2 45
1 . p4 Short Answer
: ‘H = )4 swe -2 6. A number pattern starts with the
B kil BN number —2. Each number is 4 less tha:
it 4 ;
- T L $ 10 | / V4 the previous number.
iE 15 % - a) Make a table of values for the first |
s / 10 j qun =i numbers in the pattern.
. 54 % - | 3 b) What equation can be used to deter
i 1 | Mz 2 each number in the pattern? Verify
JEREEEERX To ANSWeE.
. I T | L =3 ¢) What is the value of the 11th numt
i Ad=2t+4 B d=4t—1 the partern?
iri ©d=3t+3_-- Dd=t+5
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7. A cheese party pizza costs $21.25. The 9. How are the graphs in #8 similar? How are
graph shows the cost of adding additional they different?
toppings.

1 Extended Response
' 30. A'¢ross-countty ski-park contains five
| different trails. The diagram shows the trails,
g el W with each trail being successively larger.
8 [ i - 2km
54— .
o '[ D
'3 rai T
5 Trail 2
| Trail 3 g
ST T4 T4 TGS
l ] N'E,mbjl 0'.1.!} pRigs & L] Each side length of the shortest trail is 2 km.
| What is th  imate cost of a par The side length of each consecutive trail is
/9 a) whats cﬁapp roxima t:cgs ° ipz ty W 0.5 km longer than the previous one.
pizza with five toppings: oot o #3)
a) Construct a table of values to show the

b) Isi i e " s . .
y Is it reasonable to interpolate values on relationship berween the trail number

/53_ {tis graph? Explain. T+ 15 not reasorable and the total qistance_of each tra i,

4o interpelate ble yew Cannel hove farh == —— ok
8. Create a tab‘l?e of values ::d a graph for ¥ far2? b) What equation represents the relationship?
o

each equation.
a)y=-2x+6 b) y=2x—6

top ; ,55, ¢ Graph the linear relation.
d) If a sixth trail were added, what would
be its total distance?

Math Link: Wrap it Up!

| You are planning a canoe trip with some friends. Where are you
going? How long will your trip be? How many people are going?

You are in charge of ordering food supplies to meet the energy
regqirements of your group. For the trip, the amount of food energy
reqhired by a canoeist can be modelled by the equationa =155~ 17,
where a represents the person’s age and C represents the number

of calories.

Use the Internet, travel brochures, or other sources to find information
about your trip. '
a) Write a paragraph describing your trip.

b) Createatable of values for your data about total food energy

requirements for the group.
¢) Graph the linear relation.

d) Develop a problem based on your graph that also includes
interpolation and extrapolation and provide a solution. Show

L your work.
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